from Class September 29, 2017

-Today Solve System of Exponential Equations
-Also start Shrinking Targets from 2.1.1
(Start Ch. 2 with 2.1.2 Day 1 instead of 2.1.1)

Pull out Shrinking Targets

Pick up the

Warm Up




from Class September 29, 2017

@ st the first < fev Ing ot o sequence Fhat {/ﬁc\g
\’ ot _CO‘(VV\V\\C\ O’F t _ m
an @(P ' n = Q(;>

L = 9(»- _@//ﬁ)}{ b2
{o= 203 =15
¢ s 20y 7 S

¢

@ List +he first 4 terms ot the Yequence S\VQV\
+he PECURS\\IQ \Co\rww\\o\ %t%’— 100

Lo 4«2 b=t o
= |0 ==g0
- ¢ 20 o ~
7&\% ‘201“80 oo ~¥0 ff i()




from Class September 29, 2017

Check Your Solutions

after looking at the solutions, let me know if you
want me to go over a problem.
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EX amp le 1 Solve using the double substitution Method

Find the equation of an exponential function
with an asymptote at y = 0 that passes through
the points (2, 16) and (6, 256).
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Everyone title
your Notes: .

"Transformations”

At
I View non-linear data, _\'{

7 Make a scatter plot of the data _\L‘

3 "Fit" an equation to that data 4=

“ Then, make predictions with the equation.
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" There are 8 circles.... A, B, C, ..... H

« The mass and radivs was measured for each one.

With the data from all 8 circles, each of you should
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Graph the data using a Graphing Calculator

-Clear out old data (if any)
-Enter the new data
-Create a scatter plot

-Decide the best type of function to
use to model the data

can use the Graphing Calculator
Instrutions

Whaot type ofF  functton




from Class September 29, 2017

Make adjustments to your equation to
"fit" to the data. Y= X 2

Write down your final equation.

Use it to predict the mass of a target with
a radius twice as large as the largest
circle (circle A)

Now deterwine the mass of a plate
with a radivs of 20 cw.
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Pariner
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